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QUESTION 1

An administrator wants to provide seamless connectivity between on-premises and hybrid cloud resources. In this
scenario which technologies can be incorporated to provide seamless connectivity? (Choose two.)

A. VMwareNSXL2VPN

B. VMwareNSXL4-L7VPN

C. Site to Site VPN with TLS
D. Site to site VPN with IPSec

Correct Answer: A

QUESTION 2

What are three common problems for administrators when managing application with network security models that are
not virtualized? (Choose three.)

A. Lack of Interoperability and automation creates error-prone manual work.

B. Integration of third-party security products with home products is not possible.
C. Deploying and managing third-party security products become difficult.

D. Load balancing by vMotion is not possible.

E. There is limited visibility into a workload\\'s security posture and policies.

Correct Answer: ACE

QUESTION 3

What are two advantages of embedding the security functions in the hypervisor? (Choose two.)
A. Manages security posture of workloads at scale.

B. Enables high throughput rates.

C. Secure East-West traffic between each single virtual machine.

D. Avoids hairpinning of resources.

Correct Answer: AC

QUESTION 4

What is the total volume of traffic per Distributed Logical Router (DLR) that issupported by the Equal Cost Multipath
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(ECMP) model?
A. 20GB
B. 50 GB
C.80GB
D. 40 GB

Correct Answer: A

QUESTION 5

Which port in a vSphere Standard Switch is used to connect Virtual NIC (VNIC)?
A. vNIC

B. Physical

C. Uplink

D. VMKernel

Correct Answer: C

QUESTION 6

Which three statements are true about Transport Zone? (Choose three.)

A. it defines the VXLAN tunnel endpoint (VTEP) members of the VXLAN overlay.

B. It controls the hosts that a logical switch can reach and can span one or more vSphere clusters.

C. Itis a solution of ESXi hosts that can communicate with each other across a physical network infrastructure.
D. it extends across one or more ESXi clusters and commonly defines a span of a logical switch.

E. it does not dictate the clusters and virtual machines within the clusters in a particular network.

Correct Answer: BDE

QUESTION 7

A security policy is a collection of security services of firewall rules, or both. Which security service is applied to virtual
machines to ensure data security?

A. Virtual machine

B. Guest Introspection
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C. Network Introspection
D. SpoofGuard

Correct Answer: B

QUESTION 8

Which of these allows static or dynamic grouping based on inclusion and exclusion of objects such as virtual machines,
VNICs, cSphere clusters, and logical switches?

A. uplink

B. Active Directory (AD)
C. Port

D. Security group

Correct Answer: D

QUESTION 9

What is the maximum number of instances that VMware NSX can extend for the networking and security of either within
or across data centers?

A. Nine
B. Eight
C. Seven
D. Five

Correct Answer: D

QUESTION 10

What is the default virtual standard switch that is created when ESXi is installed on a hypervisor?
A. vSwitch 1

B. vSwitch

C. vSwitchO

D. vSwitcj2

Correct Answer: C
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